
Table 1
Value Std.Error DF t-value p-value

(Intercept) 61.911 7.128 159 8.686 <0.001

vrtyHY -14.295 7.819 76 -1.828 0.071

vrtySFT -16.128 7.809 76 -2.065 0.042

seedrmed 4.878 7.809 76 0.625 0.534

seedrhigh 0.692 7.814 76 0.089 0.930

Table 2
Value Std.Error DF t-value p-value

(Intercept) 79.096 3.775 158 20.951 <0.001

vrtyHY -3.334 4.047 76 -0.824 0.413

vrtySFT -7.554 4.014 76 -1.882 0.064

seedrmed 1.579 3.988 76 0.396 0.693

seedrhigh -5.995 4.007 76 -1.496 0.139

cheatgrassG -1.154 0.068 158 -16.885 <0.001

Table 3
Value Std.Error DF t-value p-value

(Intercept) 61.905 6.603 158 9.375 <0.001

vrtyHY -14.281 7.241 76 -1.972 0.052

vrtySFT -16.123 7.234 76 -2.229 0.029

seedrmed 4.907 7.234 76 0.678 0.500

seedrhigh 0.667 7.238 76 0.092 0.927

fitcgr -0.963 0.102 158 -9.475 <0.001
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